0.3, 2, =, —1, 5.3, 0°] 5t G252

9
3
220 A4Z o B W, at b+ e O] B

@D 10 ? 11 B 12 @ 13



1
1

Slefl 4 A P 7} vhep

+2

+1



H
ol
K
olJ

Njo

ol



AL

flo

4. 5T H

Oae3RdF 13024 g4t = 1<a<3

@ a=0XHY} A At = a<0

® aesRt 24 ¢V 3 HT AR gt = 3<a<h
@ ae3Rd AR At = a<3

®at 2B IV 4R AAAY =5 —2<agF=g>4



11
4 — , =D
) Jr ) Jrlo )

T
8




6. x=(-1)x3,y=(-2)x(-3) L W, xxy o F&S Fatolet.

Be
»



_(_1)10 + (_1)15 + (_1)21

@ 1 B 3

3 0






9.

Al 4= a, b, ¢ ol s 4 44

® a+b=b+a
@ a-b=b-a
® axb=bxa
@ (@a+b)+c=a+(b+c)

® ax(b+c)=axb+axc



® 0

© 9

)
@ -4.3

j=1

O A= BF 4740t

@ =

10. ot

B 470 ol

o= 27 o},
% 37§ o]},

)
<



o mx

digto] e = A2 4 p Aol At 160l a>b D U, 4, b
e 247} ool

D +4, -4 @ +8, -8 ® +9, -9

@ +12, —-12 ® +16, —16



12. 2-4+3-7& AAtstoizt,



13. Th % AL ATt ohE s

0(D-() @)
o ()1 e (Y



14. q BTH72e 57} -3 0|1 b KTk -4 & S 2 0]t} g+ b 9
Zhe Fotolat,

s
=¥



15.

2 @Rstel Moy 1 At

| =



22
15

®

21
13

@

20
13

®

11

21

@

20
11

@



17. tYa& A4tsteiet.

(e (2)
B



ol mjw
oAk

(—-27)xA =B

(-27) x 135 + (=27) x 865

. .

ul Ul



19. (-3)2x4-15=+(2+3) & 759t

>R



20. ofd} Ei Pelrtel 2 A9 AL ol g Huvl 2 HH1 LS
crebg Aotk Z1&7pol7t 71 2 292

7] & A AL | BA | g [T AA
Hu712(C)| -1 | 8.3 2 |—-4.4]|-2.2
HA71(c)|-8.8|-4.6| -5 |-15.9|-14.6

© A @ w4 ® o7
@ g ® A



21 SAHANA -1 o 1 AVAE A5E 0, D ol 1Y AVhe A48

bt & ,abe%ké T-5tefzt.

Ct-
=



22,

T2 flolA Aoz R 3R ol A FollA 2 4ol di-g-s)
€ de A, -4 25H 3 WF Bofdl A FollA 22 ol gk
& B 2 sk ol = H A, B oA &2 A=l e Aol
Uetl= 4E Fotofet

v
I









25. the-g Aste] 1 gro] 2 AR AL hdstu?

i
|
/|\
N
N~
w
X
i
—
—
S

r




